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1 Introduction

This document collects questions and exercises that support the teaching of the SPD course I taught
over the years at the University of Pisa within the master course in Computer Science and Networking.

2 Guidelines

2.1 Difficulty Degree of Exercises

We adopt a way of ranking the expected difficulty of exercises that was made popular by the TAOCP
series of books . Each exercise will have its difficulty ranked between 0 and 50 in the left margin. The
most significant digit is the “class of the exercise”, and the least significant digit ranks the exercises
within the same class.

Symbol Meaning in TAOCP Meaning in this collection
00 Immediate

10 Simple (one minute) design in one minute, about 5 minutes to code and test

20 Medium (quarter hour) design in 15 mnutes, about one hour to code and test

30 Moderately Hard design is not trivial, coding may require a few hours

40 Term Project Term project

50 Research Problem Research Problem / Innovation topic

> recommended not used yet

M Mathematically oriented not used yet

HM Requiring "higher math" not used yet

As the convention is adapted to the level and content of the course
e some symbols are not used,

e at the time of initial compilation no exercise is present yet that fits in the two classes of highest
difficulty,

e as most if not all exercises include coding, the time required to write, compile and test is longer
that what is required to only figure out and design a solution.
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2.2 Benchmarking and Evaluating Your Own Solutions

Plan in advance to measure the execution of your programs, and to measure the performance with
different values of the input parameters and data. On a single machine, benchmarking performance
gives you at least the option to esteem the parallel overhead of the algorithm, and an approximate
idea of the degree of parallelism exploitation up to the number of core on the machine; on a parallel
platform you shall measure a true parallel speedup.

2.3 Measuring time

system approach employ the time program
time mpirun -np 4 myprogram parameterl parameter?2
The obvious disadvantage: poor granularity and no deaggregation of the time measurement.
Only suitable for quick and dirty checks.
MPI Wtime look up the man of double MPI_Wtime(void), a portable and easy to use function
provided by MPL. Its actual accuracy may depend on the implementation, see MPT_Wtick.
Plan within your code for repeated measurements in order to assess result reliability. E.g. report
average and standard deviation of results. Check that what you are trying to measure is large enough
to allow significant measurement.

3 MPI exercises

» [22] Exercise MPI.1 - Ping-pong

Define the classical ping-pong program with 2 processes F, and P, that send back and fort a data
buffer. The first process sends some data, the second process executes a simple operation on the data
(e.g. sum 1).

Use a basic datatype for this exercise. Initialize properly the data so that you can actually verify you
have received the operation result.

e Write the program so that it can perform a specified number N of iterations if needed.

e Verify after the given number 1 ... N iterations, that the expected result is achieved.

e Add printouts close to communications: does the printout work correctly? are the strings in a
recognizable order? Why?

Extension of the exercise:

e Generalize the ping-pong example to N processes. Each process sends to the next one, with
some processes being special, e.g. implement
— a Token ring (a process has to start and stop the communication by receiving back the
token from process N — 1)
— a One-way pipeline (one process starts and sends only, the last one only receives)
e Can you devise a communicator structure for these examples that goes beyond a single common
communicator?

» [18] Exercise MPIL.2 — MPI derived Datataypes

Build datatypes for



a square matrix of arbitrary element types and constant size N X N
a column of the matrix

a row of the matrix

a group of k columns of the matrix (e.g. k = 3).

the upward and downward diagonals of the matrix

Perform a test of the datatypes within the code of exercise MPI.1, i.e. define the datatypes and the
corresponding C / C++ data structures, emply them in communications and check that they work as
expected: initialize the matrix in a known way, perform computation on the part that you pass along
(e.g. multiply or increment its elements) and check the result you receive back.

» [25] Exercise MP1L.3 — MPI matrix multiplication

Write a program that can multiply N X N matrices A, B into a matrix C, that works with a non trivial
range of the N parameter, e.g. N = 100 . The program shall distribute the actual computation among
the M available processes at runtime.

The multiplication algorithm is the classical one:

N-1
Cj= Z Ay * By
k=0

Data of A and B are initially at a single process. The matrix C shall be partitioned among all pro-
cesses. After the computation, the matrix C must be collected to a single process.

Ensure that you can repeat the same test if needed. When initializing the data it makes sense
either to read it from disk, or to initialize to know values . In order to easily check the results, it
will be handy to be able to initialize one of A or B to a scalar multiple of the Identity matrix I ,
eg. A=x-1I,xeR.

for simplicity, you can choose to not implement all combinations of (N, M) and bail out in some
cases,

assume your processes are arranged either as a 1D or a 2D array, where each process owns
respectively a strip or a square subset of the matrix C

apply the owner-computes rule, so that each process will need the corresponding input data (rows
of A and columns of B) to compute its share of C. The data from A and B shall be distributed
at runtime to all the processes that need them. Do that with point to point communications in
you first implementation.

Compute the type and size of the data structures at runtime according to the number of processes
(again, you can and should bail out on inappropriate inputs)

» [25] Exercise MPL.4 — k-asynchronous point-to-point communication

Plain MPI point to point API does not provide communication with assigned, exact degree of asyn-
chrony!. How do you implement such communication with given asynchrony k?

! Assigned asynchrony of degree K: asynchronous communication between a sender and a receiver (the sender normally
does not block) which becomes synchronous if more than K messages are pending. So, the receiver can wait/skip at most
K receives before the sender blocks on the send operation. We still assume messages must be received in the same order as
they are sent.



> [25]

> [30]

e Implement a communication function with asynchrony 1
e Implement a communication function with asynchrony k
Key questions to answer when designing you solution:
e Can you rely on MPI buffering?
e How do you implement a fixed size buffer?
Write a send and/or a receive function(s) wrapper in such a way to ease its reuse in different contexts
(different variable values types, size, value of k).

Exercise MPL5 — k-arity tree of processes

Define a complete k-ary tree (a tree where each interior node has exactly k children) of processes,
where at each node corresponds to an MPI communicator including the node itself and its children.

Test that the communicator struccture works by performing the following communication pattern:
starting from the root, each node broadcasts an initial value (which is determined by the root node) to
each son node (using MPI_Bcast in the top level communicator). Each interior node will in its turn
broadcast the initial value to its own children, get back results from all of them, add a value computed
from its own index, return the reply to the parent node. Leaf nodes only compute on the received values
and send back the result. 2

A simple example : local computation is multiplication of the received value v by the node index. All
values received by child nodes are summed with the local value, and passed back to the father node.
Each node n; computes

fopvy=v-i+ Y fn0)
h:n,Esons(n;)

which also makes quite simple to check the result at the root.

Suggestions:

e decide if you want to have separate processes for different nodes, or if you want to reuse processes
for more tree layers. This impacts the way you assign indexes to nodes and the way you arrange
communications.

e choose which collective and point to point operation to use

o if using a general value of k is too complex, start with the fixed value k = 4.

Exercise MPI.6 — Task-farm skeleton

Build a task farm skeleton program aiming at general reusability of MPI code. Your solution should
allow to change the data structures, computing functions and possibly the load distribution policy
without changing the MPI implementation code. (further description and notes are present on the
slides for the MPI lab time).

Simplifying assumptions:
e single emitter and collector

Level k in the tree is defined as the set of nodes at depth k (e.g. distance k) from the root node. Node indexes are
consecutive positive integer values assigned to nodes starting from 0 (the root node), and following increasing levels. Given
two nodes with indexes i, j, for all nodes p, g respectively a child of i and j, it holds true thati < j — p < ¢. A full 3-ary
tree with 3 levels will thus have the following indexes in its levels {0}, {1,2,3}{4,5,6,7,8,9,10,11, 12}



e stream generation and consumption are functions called within the emitter and collector pro-
cesses
e explicitly manage End-of-stream conditions via messages/tags of you choice

Constraints: in order to remain generic, outside of the stream generation function your code cannot
assume that the stream lenght and content is known in advance.

Suggestions: leverage the separation of concerns as much as possible, by having (1) each kind of
process code being a C/C++ function, as well as (2) each computing task being a function called by
the generic worker/support process.
Experiment with different communication and load balancing strategies:
e simple round-robin,
e load balancing with explicit task request;
o explicit task request, implicit request via Ssend,
e a varying degree of worker buffering
What are the pros and cons in using separate communicators for the farm skeleton and its substruc-
tures?
Think of how you could implement some common extensions of the basic farm semantics: ini-
tial/periodic worker initialization, workers with status and status collection, work stealing strategies.

» [20] Exercise MPL.7 — Mandelbrot set computation

To do

[20] Exercise MPI.8 — Farm Skeleton with worker Reinitialization

Extends exercise MPI.6
Add to the farm skeleton a mechanism to reinitialize the workers (i.e. send to all workers a message
that influences the computation from that point of the stream of tasks).

The stream computation performed by the workers depends on the farm “status”; each part of the
stream (substream) is associated with a specific status that is spread to all workers at the beginning of

that substream 3.

Example: the status is the max number of iteration i ,, in a Mandelbrot computation. As a new
image is being computed, a new substream of tasks starts and the value of i, used by the workers
needs to be updated.

Constraints:
e You cannot just assume to send the whole status within each job (status updates may be sporadic
and quite larger than ordinary tasks).
e The substream computation associated with any status value at the emitter. Your code must deal
with varying computation time in the worker in such a way that the above rule is not violated,
i.e. all tasks of a substream are computed using the same “status” value.

3The ordinary farm of exercise MPL6 is the special case where the stream contains only one substream, thus initialization
is performed only once at the beginning of the stream, and there is no need to send reinit messages by the emitter.



Suggestions:
e How do you send/receive status updates? Some options are with MPI_ISSend, MPI_IBSend,
MPI_Ssend or controlling non-determinism within the workers’ MPI_Recv operations.
e Should you serialize the communications, and how? E.g. by adding a progressive identifier to
the task, to the status messages or both, and how to link these identifiers to the substream.
e Manage substream ordering in the emitter (chose a semantics: no ordering, reordering the results
by the task id, reordering the result by substreams but not by the tasks).
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